o3 d
H
S

S
L

) em)

o(d dz) (cm)‘

10K

< 0 .69_% ! 11 1 11 1 + 11 1 : 11 111 1 11 1 :
E e 8
x _ T + 1 I
1HE| 44 E 2 pe 1HHE . 4 Nk
1T, : : : : H: : : i :
o i i i 095 i -+ i : : i
-3 -2 -1 0 1 2 3

0.951k - :
-3 -2 -1 0 1 2 3

—=— DQM_V0001_R000000001__Global__cmssw1000time__RECO

—e— DQM_V0001_R000000001__Global__mkFitNewOLD1000time_ RECO

—— DQM_V0001_R000000001__Global__mkFitNewALL1000time__RECO

~07'
o :

-

a(® @) (rad)
oG p./

1072 T

YT OL-VO[T. b
H: = : i
H: @© 1: i
ifl m -E +* -4 l
0: 1 - -+
0.95 - fop--s + QR IR ik t ;
0.95 i . . . i
-2 -1 0 1 2 3

o 1 2 3 =

TP @ (PCA to beamline) TP @ (PCA to beamline)



	Contents
	Page 1


